
 

s@lm@n 

 

Cisco 
Exam 650-474

 

Introducing Cisco Identity Services Engine for System Engineer

Exam
 

Verson: Demo

 

[ Total Questions:   10 ]



Which statement about Cisco Identity Services Engene high availability is true? 
 
 
A. Monitoring nodes are deployed m an active/active mode. One node serves as primary.
All logs are sent automatically to both HA monitoring nodes. 
B. Administration nodes are limited to two and are deployed in an active/standby mode.  
C. Secondary Administrate node automatically becomes primary in the event of primary
node failure. 
D. Monitoring nodes are deployed in an active/standby mode. All logs sent to the primary
are replicated to the secondary node.  
E. Users are served from the secondary Monitoring node only if the active Monitoring node
fails. 
 

Answer: D

 

 

Which types of design are required in the Cisco ISE ATP program? 
 
 
A. schematic and detailed  
B. preliminary and final  
C. high-level and low-level designs 
D. top down and bottom up 
 

Answer: C

 

 

Which methods can be used to create usernames?
 
 
A. general or random 
B. RFC2381or IEEE 1493 
C. Knopf or WS naming 
D. manual or Ruby 
 

Answer: A
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Which ISE persona presents the Guest portal page for Central Web Authentication? 
 
Select exactly 1 answer(s) from the following:
 
 
 
A. Policy Service 
B. Admin 
C. Monitoring  
D. Inline Posture 
 

Answer: A

 

 

Which two roles can be deployed across more than two nodes in an instance? (Choose
two.)
 
 
A. Monitoring  
B. Administration 
C. Inline Posture 
D. Pokey Service 
 

Answer: A,B

 

 

Which existing platforms support data migration to Cisco ISE 1.0? 
 
 
A. NAC4.X 
B. ACS 4.X 
C. NAC 3.X 
D. ACS 5.X 
 

Answer: A
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Which two deployment methods are supported with Cisco ISE 1.0 with RADIUS NAC? 
 
(Choose two.) 
 
 
A. Unified Wireless 
B. HREAP - Local Switched 
C. HREAP - Central Switched 
D. Autonomous 
 

Answer: A,C

 

 

In the Cisco ISE ATP program, what must the sales team submit to begin the sales
process? 
 
 
A. a new product-hold waiver 
B. high-level and low-level designs 
C. a preliminary design and a request for equipment release 
D. a high-level design and BoM 
 

Answer: B

 

 

What n the maximum number of supported endpoints on an appliance in stand-alone
mode? 
 
 
A. 5,000 
B. 7,500 
C. 10,000 
D. 2,000 
 

Answer: D
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Which option is the default authentication priority on a Cisco switch?
 
 
A. MAB, 802.1X, Web-Auth 
B. 802.1X, MAB, Web-Auth 
C. MAB Web-Auth, 802.1X  
D. 802.1X, Web-Auth, MAB 
 

Answer: B
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